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Please note that you have 9 exercises and 8 pages




) Calculate the following limits:
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2) (11 points)

Can f(x) be extended to
rs. Define the continuous extension at the
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Consider the function f(¥) =‘—:x'_'_'
x> —5x+4

become continuous atx = —~17 At x =47 Give reasons for your

yalue where it exists.
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4) (10 points) Let f(x) be the

a) Sketch the graph of f(x)
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function defined by: _;_f(x) =
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b) Determine the points at which the curve of F(x): ///
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5) (12 points)
a) Using the de
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finition of the derivative, find the derivatr eof f(x)=3x"-
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b) Does the curve of f(x) have any horizontal tangents? If yes, whe;c?
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6) (13 points) Find the derivative of the following functions:
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7) (10 points) Consider the curve defined by the parametric equations: { 2,
y=sin

a) Fmd the slope for the line tangent 0 the curve at 1 =0
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b) Find the value of %3 at the same point

a /
D\ j _ Parve S ,'V- _ .‘,i\__'
d » T - - CQ .m-:"'\ "I"-' (/'/ ‘;L

..\__




/

\

8)(16 points) Find an equation for the normal line 10 the curve EWe.n by:
sin(xy) + Xy = % +1 atthe point (1;%)
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9) (12 points) Consider the function f(x) = 2x? —8 over the interval [-1; 3]

) Find the absolute maximum and absolute minimum of f(x) over the given interval.
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b) Explain why we can apply the Mean Value Theorem on f (x) over the given: a:ﬁerx.r.a!

then apply it.
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